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1. Below is an excerpt from the 2014 Annual Report of Finnair Oyj. Use it to answer the questions below.

Hybrid bond

Shareholders' equity includes a 120 million euro hybrid bond issued in 2012. The hybrid bond coupon is fixed 8.875 per cent
per year for the first four years and thereafter at least 11.875 per cent per year. Finnair can postpone interest payment, if it
does not distribute dividends or any other equity to its shareholders. The bond has no maturity date, but the company has
the right to redeem it four years after the date of issue. The hybrid bond is unsecured and in a weaker preference position
than promissory notes. A holder of hybrid bond notes has no shareholder rights.

Questions:

a) Why did Finnair classify the bond as equity rather than as liability?

b) How does existence of this hybrid bond affect calculation of basic and diluted earnings per share
(EPS)?

c) What are the benefits to Finnair from financing its operations with the hybrid bonds instead of straight
bonds?

2. What is fair value according to IFRS 13? How should firms estimate fair values?

3. Assume that on January 1, 2015, Dechow Inc. signs a 10-year, non-cancelable lease agreement to
lease a storage building from Storage Company. The following information pertains to this lease
agreement.

a. The agreement requires equal rental payments of €90,000 beginning on January 1, 2015.

b. The fair value of the building on January 1, 2015, is €550,000.

c. The building has an estimated economic life of 12 years, with unguaranteed residual value of
€10,000. Dechow depreciates similar buildings on the straight-line method.

d. The lease is non-renewable. At the termination of the lease, the building reverts back to the
lessor.

e. Dechow’s incremental borrowing rate is 12% per year. It is impracticable to determine the
lessor’s implicit rate.

f. The yearly rental payment includes €3,088.14 of executory costs related to taxes on the
property.

Required:

Prepare the journal entries on the lessee’s books to reflect the signing of the lease agreement and to
record the payments and expenses related to this lease for the years 2015 and 2016- Dechow’s
corporate year-end is December 31.



